ASSEMBLY INSTRUCTION

Shoe Storage

~

-

kY

REPLACEMENT PARTS

Please do not contact the company purchased from as we can help you faster.
Order replacement parts and hardware at " www.boltonfurniture.com "

TT? -

60 minutes

A

(. Use of power tool to assemble this h
product will invalidate any claim and

Tools Required

damage this product making it BT
unsafe !!! N =3}
. Please assemble on a clean soft (Not included)
\surface to avoid damage. )
www.boltonfurniture.com
03/03/2022 10f9 ANLO0333 Shoe Storage




‘ A
J O 16
Y M6*15mm Bolt )
‘ A
M & 02
N y
‘ A
P ~ 02
\_ 4*25mm Screw )
‘ — A
Boorae-
S @ — 01
\_ ANTI-TIP )
03/03/2022

Part list - Shoe Storage

! N
K St 04
h J
! N
N W 08
N\ 3*15mm Screw J

Q 08

www.boltonfurniture.com

20f9

Identifying the hardware-ldentify the hardware using the illustrations below

e R
24

_ 4*15mm Screw )
e R
O N 02

7
N 01

ANLOO0333 Shoe Storage




[J M6 1 B |t02]

*15mm Bo

[R (N 01]

H®

www.boltonfurniture.com
03/03/2022 30f9 ANLO0333 Shoe Storage




www.boltonfurniture.c



om

www.boltonfurniture.c
50f9



0
01

Se 04
B
Z4x15mm
e ——]
-
(Not included)

K
L

N
()
Q.
Q
o
(/)]

g
[L Z4x15mm 1 6]

Step 08

01]

[ ——]
i
(Not included)

[

=

e e ot

www.boltonfurniture.com

ANLOO0333 Shoe Storage

6 of 9

03/03/2022



2)
8)

=
[
@3x15mm

M
N

-
(.
~
(.

~

Ve

2

P

O
M4x25mm

J

.

N\

,01

e ——]
-
(Not included

J

-

Step 09

www.boltonfurniture.com

ANLOO0333 Shoe Storage

7 of 9

03/03/2022




Step 10 [ w0

(Not included)

Tighten the Screw marked (ll) to fasten hinge. The door may need to
be adjusted so that all the spaces between the door and the unit sides are equal.
To adjust, follow instructions:
1. Side adjustment 4 mm
To move the door towards the side panel, loosen screw (l) and tighten screw (lI) .
To move the door away from the side panel, loosen screw (IlI) and tighten screw ()
2. Depth adjustment 4 mm
Loosen screw (I) (justone turn), adjust door to desired position, re-tighten screw .
3. Height adjustment
Loosen screw (L) , adjust door to desired position, re-tighten screw .

www.boltonfurniture.com
03/03/2022 8 of 9

ANLOO0333 Shoe Storage




"S" Anti-Tip

Al @ 04 C (=) 04

_ 4x15 Screw Plastic wall bracket

B @) 04 D

4x35 Screw

02

www.boltonfurniture.com
03/03/2022 90of9

) Q
N X
e SN
T
SR
A AN
YWRARKRBOARR R
NS
5
5

7

/|
Secure to Stud behind Wallboard!

ANLOO0333 Shoe Storage




	1.pdf (p.1)
	2.pdf (p.2)
	3.pdf (p.3)
	4.pdf (p.4)
	5.pdf (p.5)
	6.pdf (p.6)
	7.pdf (p.7)
	8.pdf (p.8)
	9.pdf (p.9)

